Best Estimate of Thousands

Name: Score:

Which answer is correct when you estimate by rounding off to the nearest thousand?

1) What is the best estimate of 2,189 plus 1,763?

A. 3,000 B. 4,000 C. 2,500 D. 500

2) What is the best estimate of 6,005 minus 2,400?

A. 3,000 B. 8,000 C. 4,000 D. 2,000

3) What is the best estimate of 2,567 plus 5,609?

A. 3,000 B. 8,000 C. 9,000 D. 10,000

4) What is the best estimate of 5,800 plus 3,245?

A. 9,000 B. 6,000 C. 8,000 D. 3,000

5) What is the best estimate of 6,988 minus 4,004?

A. 1,000 B. 11,000 C. 2,000 D. 3,000

6) What is the best estimate of 9,500 minus 1,245?

A. 7,000 B. 9,000 C. 8,000 D. 10,000

7) What is the best estimate of 2,097 plus 2,887?

A. 5,000 B. 6,000 C. 7,000 D. 1,000

8) What is the best estimate of 8,206 plus 1,499?

A. 11,000 B. 10,000 C. 8,000 D. 9,000
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Answers

Which answer is correct when you estimate by rounding off to the nearest thousand?

1) What is the best estimate of 2,189 plus 1,763?

A. 3,000 B. 4,000 C. 2,500 D. 500

2) What is the best estimate of 6,005 minus 2,400?

A. 3,000 B. 8,000 C. 4,000 D. 2,000

3) What is the best estimate of 2,567 plus 5,609?

A. 3,000 B. 8,000 C. 9,000 D. 10,000

4) What is the best estimate of 5,800 plus 3,245?

A. 9,000 B. 6,000 C. 8,000 D. 3,000

5) What is the best estimate of 6,988 minus 4,004?

A. 1,000 B. 11,000 C. 2,000 D. 3,000

6) What is the best estimate of 9,500 minus 1,245?

A. 7,000 B. 9,000 C. 8,000 D. 10,000

7) What is the best estimate of 2,097 plus 2,887?

A. 5,000 B. 6,000 C. 7,000 D. 1,000

8) What is the best estimate of 8,206 plus 1,499?

A. 11,000 B. 10,000 C. 8,000 D. 9,000
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